
 
 

Prove that: 

∫ ∫ (𝐥𝐧 (𝐥𝐧(𝟏 + 𝒙) + 𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝟏 − 𝒚))𝒅𝒙𝒅𝒚
𝟏

𝟎

𝟏

𝟎
= 

=
𝝅𝟐

𝟏𝟔
+
𝝅

𝟒
𝐥𝐧(𝟐) + 𝟐𝐥𝐧𝐥𝐧(𝟐) + 𝛄 − 𝐥𝐢(𝟐) − 𝐆 

 
Proposed by Shirvan Tahirov-Azerbaijan 

Solution by Ankush Kumar Parcha-India 
 

∫∫(𝐥𝐧 (𝐥𝐧(𝟏 + 𝒙) + 𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝟏 − 𝒚))𝒅𝒙𝒅𝒚

𝟏

𝟎

𝟏

𝟎

 

∫∫(𝐥𝐧 𝐥𝐧⁡(𝟏 + 𝒙)𝒅𝒙𝒅𝒚

𝟏

𝟎

𝟏

𝟎⏟                
≔𝝃𝟏

+∫∫𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝟏 − 𝒚)𝒅𝒙𝒅𝒚

𝟏

𝟎

𝟏

𝟎⏟                  
≔𝝃𝟐

 

𝝃𝟏 = ∫∫(𝐥𝐧 (𝐥𝐧(𝟏 + 𝒙) + 𝒂𝒓𝒄𝒕𝒂𝒏
𝟐(𝟏 − 𝒚))𝒅𝒙𝒅𝒚

𝟏

𝟎

𝟏

𝟎

 

𝑰.𝑩.𝑷
⇒   (𝒍𝒏𝒍𝒏(𝟏 + 𝒙) ∫

𝒅𝒙

𝒅𝒚
𝒙𝒅𝒙)

𝟏
𝟎
− ∫

𝒙

(𝟏+𝒙) 𝐥𝐧(𝟏+𝒙)
𝒅𝒙

𝟏+𝒙⟶𝒙
⇒     

𝟏

𝟎
𝒍𝒏𝒍𝒏(𝟐) − ∫

𝒅𝒙

𝒙
+

𝟐

𝟏

+∫
𝒅𝒙

𝒙𝒍𝒏(𝒙)

𝟐

𝟏⏟      
𝐥𝐧(𝒙)⟶𝒙

𝑵𝒐𝒕𝒆⁡𝒔𝒆𝒄𝒕𝒊𝒐𝒏
⇒         ⏟      

(𝟏)

𝐥𝐧𝐥𝐧(𝟐) + 𝑳𝒊(𝟏)⏟  
𝒍𝒊(𝟏)−𝒍𝒊(𝟐)

+ 𝐥𝐧𝐥𝐧(𝟐)−𝐥𝐢𝐦
𝒙⟶𝟎

𝐥𝐧⁡(𝒙) 

𝑵𝒐𝒕𝒆⁡𝒔𝒆𝒄𝒕𝒊𝒐𝒏
⇒         ⏟      

(𝟐)

𝟐𝒍𝒏𝒍𝒏(𝟐) + 𝜸 + 𝐥𝐢𝐦
𝒙⟶𝟏

𝐥𝐧𝐥𝐧(𝒙) − 𝒍𝒊(𝟐)−𝐥𝐢𝐦
𝒙⟶𝟎

𝐥𝐧(𝒙) 

⟹ 𝝃𝟏 = ∫ ∫ 𝐥𝐧(𝟏 + 𝒙)𝒅𝒙𝒅𝒚 − 𝟐𝒍𝒏𝒍𝒏(𝟐) +
𝟏

𝟎

𝟏

𝟎
𝜸 − 𝒍𝒊(𝟐) 

𝝃𝟐 = ∫∫𝒂𝒓𝒄𝒕𝒂𝒏
𝟐(𝟏 − 𝒚)𝒅𝒙𝒅𝒚

𝟏−𝒚⟶𝒙
⇒     ∫ 𝐚𝐫𝐜𝐭𝐚𝐧𝟐(𝐱)𝐝𝐱

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝑰.𝑩.𝑷
⇒   (𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝒙) ∫

𝒅𝒙

𝒅𝒚
𝒅𝒙) 𝟏

𝟎
− 𝟐∫

𝐱 𝐭𝐚𝐧−𝟏(𝒙)

𝟏+𝒙𝟐
𝒅𝒙

𝟏

𝟎
 

𝑰.𝑩.𝑷
⇒   

𝝅𝟐

𝟏𝟔
− (𝐭𝐚𝐧−𝟏(𝒙) ∫

𝒅𝒙

𝒅𝒚
𝐥𝐧(𝟏 + 𝒙𝟐) 𝒅𝒙) 𝟏

𝟎
+ ∫

𝐥𝐧(𝟏+𝒙𝟐)

𝟏+𝒙𝟐
𝒅𝒙

𝟏

𝟎⏟        
𝒙→𝐭𝐚𝐧⁡(𝒙)

 

𝒕𝒂𝒏𝟐(𝒙)+𝟏−𝒔𝒆𝒄𝟐(𝒙)
⇒              

𝝅𝟐

𝟏𝟔
−
𝝅

𝟒
𝐥𝐧(𝟐) − 𝟐∫ 𝐥𝐧𝐜𝐨𝐬(𝐱)𝒅𝒙

𝝅

𝟒

𝟎

𝑵𝒐𝒕𝒆⁡𝒔𝒆𝒄𝒕𝒊𝒐𝒏
⇒         ⏟      

(𝟑)

𝝅𝟐

𝟏𝟔
−
𝝅

𝟒
𝐥𝐧(𝟐) + 

+ 𝟐 𝐥𝐧(𝟐) ∫ 𝒅𝒙
𝝅

𝟒
𝟎

+ 𝟐∑
(−𝟏)𝒏

𝒏
∫ 𝐜𝐨𝐬(𝟐𝐧𝐱)𝒅𝒙
𝝅

𝟒
𝟎𝒏∈𝑵  

 
 



 

⟹
𝝅𝟐

𝟏𝟔
−
𝝅

𝟒
𝐥𝐧(𝟐) +∑

(−𝟏)𝒏

𝒏𝒏∈𝑵 (
𝐬𝐢𝐧⁡(𝟐𝒏𝒙)

𝒏
)
𝝅
𝟒⁄

𝟎
 
𝒏−𝟐𝒏+𝟏
⇒      

𝝅𝟐

𝟏𝟔
+
𝝅

𝟒
𝐥𝐧(𝟐) +∑

(−𝟏)𝒏+𝟏

(𝟐𝒏+𝟏)𝟐𝒏∈𝑵∪{𝟎}  

𝑵𝒐𝒕𝒆⁡𝒔𝒆𝒄𝒕𝒊𝒐𝒏
⇒         ⏟      

(𝟒)

 𝝃𝟐 = ∫ ∫ 𝒂𝒓𝒄𝒕𝒂𝒏
𝟐(𝟏 − 𝒚)𝒅𝒙𝒅𝒚 =

𝟏

𝟎

𝟏

𝟎
⁡
𝝅𝟐

𝟏𝟔
+
𝝅

𝟒
𝐥𝐧(𝟐) − 𝐆 

Put the values of 𝝃𝟏 and 𝝃𝟐 in equation-(1) 

∫ ∫ (𝐥𝐧 (𝐥𝐧(𝟏 + 𝒙) + 𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝟏 − 𝒚))𝒅𝒙𝒅𝒚
𝟏

𝟎

𝟏

𝟎
=
𝝅𝟐

𝟏𝟔
+
𝝅

𝟒
𝐥𝐧(𝟐) + 𝟐𝐥𝐧𝐥𝐧(𝟐) + 𝛄 − 𝐥𝐢(𝟐) − 𝐆 

Note: ⁡𝑮 − 𝐂𝐚𝐭𝐚𝐥𝐚𝐧𝐬⁡𝐜𝐨𝐧𝐬𝐭𝐚𝐧𝐭 
𝜸 − 𝑬𝒖𝒍𝒆𝒓 − 𝑴𝒂𝒔𝒄𝒉𝒆𝒓𝒐𝒏𝒊⁡𝒄𝒐𝒏𝒔𝒕𝒂𝒏𝒕 

 


